o
[N

<0 > (rad)
o
o [
[ [¢)]

........

|
w

1 2 3
TP n (PCA to beamline)

o
[N

< o cot(y) >
o
=
a1

........

o
N

.............
.............

[V AR LA LA AR

(k=]

-2

-1 0 1

2

—s=— DQM_V0001_R000000001__Global__mkFitbase_ RECO
—— DQM_V0001_R000000001__Global__CMSSW_X_Y_Z__RECO

100

< 00, > (M)

.............

.........

.........

RIS

AHH - |

f'ﬂ i

" :

HI
na

N -

BTG LD

i

[¢V LALAN RARAN RARAN AL

-2 -1 0

1 2

TP n (PCA to beamline)

<opyp, > ()

Ratio

3

TP n (PCA to beamline)

3

100

—~

.................

..................

..................

o-100Fcbb B vy s
Lo 00N 1 1 B ‘ T -
x F j ; :
E 'T"'T”"¥: """ (3
0.5 - IR s | et 1k
OE 8 . J . 1: 8
= -2 -1 0 2 3

TP n (PCA to beamline)



	Contents
	Page 1


